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2. = A T4 600 600 0
13. 44943 160 160 0
1.¢94%F 160 160 0
14. 8- kA 72 400 400 0
1.3 2 A1) 400 400 0
15. A& A A (F4) 2,400 0 2,400
A -] ) WA} =z} 5 Q] ] =
1. k4 gn) 190 0 190 ;zgj” FEFAET 95,0008 %13 190,000
22 2] )22 2 & ZFAME 2 x 57 x
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A )Y & Akod v 2] =]
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A 8 z] ) Q-0 = A 5L Q] AX1EX
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16.521¢ SARS A (=4) 3,900 0 3,900
AFAEA 37 24 aEFA]
1.9uk=8H 1,365 0 1,365 . 1,365,000
Al 1,365,0009 < 13]=
AL nY EAus Ex 9l
2. 15 g-oH 385 0 585 (8B 5 T =4 T 385,000
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AFDAEE Fof =4 9 10,0009
3. EA T 2,150 0 2,150 < ' 2,150,000
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1.+949 2,500 2,500 0
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2.9t 3] 200 200 0
1. 05890 200 200 0
3. 8305 dE A 6,050 6,050 0
1. 05890 6,050 6,050 0
4. A S o) 3] 4,000 4,000 0
1. 05890 4,000 4,000 0
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1. 0589 600 600 0
6.3t YA A 25 1,050 1,050 0
1.3H8 B A0 1,050 1,050 0
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2. 058 27,264 30,064 -2,800| @ o] AEH -3,600,0009= -3,600,000
Al 8 =] )= A R L ™
(4 ?3_)?51101 LA H] IO,OOO‘JXALO <] 800,000
X 23]=
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=] OFZ) 9] ] 2] X _ N
‘1;7]74] TR 227 0 227 (A HAAARIAZ 72,0009 X 19 x13]= 72,000
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1,505 990 1,360 o 1360 DL EFISIEETA 27,2009 1,360,000
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2.8 nEH o 8,575 720 7,855
1,004 04 720 720 0
1.&949 600 600 0
2. W5 120 120 0
2. A g AR 2~ (54 6,055 0 6,055
1. uks-gn) 6,055 ol 6,055 (B HDAALETIIER 60550091 >1 6,055,000
’ ’ = X107 €= ’ ’
3.0y g A (Ez) 1,800 0 1,800
23 ) 2 of| HF & o ELIE 10)
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14 dkagel - 2018-06-28




20188 A S A& o AHH A A

o 27 %7313) (ve] @ A9
A4
A | l
88 | 718 | v AE 2 ()
_ _ q]}\ ol 01]" ol %_71—
A ] | A AR L7 AN & = = =
(A HA)AITEA 7] A AL B A =
1,498,000
1,498,000 < 19=
(A AIZHA 7N A ZAAF 1730 1,440,000
1,440,000 < 19 =
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